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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
woTS AT fet e s for ;o

(a) Which measure of central tendency is
known as positional average?

@R ARTOR FE (@RS TS 1 el
Sl Y ?

(b) What is the SD of the following values?
T, Ty U U
T AR N {07 12

7o Toilnits,
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(2)

(c) What is meant by ‘Kurtosis’?
T TS o g

(d) What does r =0 signify?
r=0af eI

(e} Define a random variable.

e vered izl e |

(/ In a Poisson distribution mean =7,
variance = 8.

(Write True or False)
GB] 5’ IBAS 91C = 7, 29 = 8.
(% (1 =% faw)
(g) E(c =?, where c is a constant.
E(g) =? 'S ¢ (2R 901 $39 |
(h) If P(A or B) = P(A)+ P(B)- P(An B), then

what will be the nature of the events
A and B?

If* P(A 91241 B) = P(A) + P(B) - P(An B),
(OS2 A SF B (I AFSq 961 2

(i) What is joint probability distribution?

Afs e [Redq 2

() When does a sampling error arise?

#f Stz @6 @fem 2’7 13 2
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(3)

2. Answer the following questions : 2x5=10
Gefd oA T foAR

(a) For any two unequal positive numbers
a and b, prove that AM > GM.

R 701 SPHE 419 R a FF KR @
19 F91 @ AM > GM.

(b) What is the probability that a non-leap
year will contain 53 Fridays?

g5l HA-HAHI IC@ 5301 WEFAR (TR
seifder fFae 2

(c) If the covariance between x and y
variables is 12 and variances are 16 and
9 respectively, find the correlation
coefficient between xand y .

Mt x SF y Y01 5199 3264 12 T HE PR
A 16 HF 9 W, (ST 03 HAPYHR W&
TFE Sfered |

(d If X, is a random variable with
respective  frequencies f;, where
i=1 2 3, ---, n, show that E(X)=X.

It X, 9Bl MRS baIe W IR IRARS f; =W,
q’G i=]~12: 3: e, N, Cm’m ﬁw A

E(X) = X.

(e) Mention two methods of random
sampling.
e 2AfSHRT 701 FafS SrEy F91 |
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4 )

3. Answer any four of the following questions :
5x4=20

TS frul epeTye Rl sfvr Teq fora

(a) Find the first four moments about the
mean from the following distribution : S

T REIR TR @ A% BRGI gl

G%W g
Heights (inch) : 60-62 63-65 6668 69-71 72-74
Twoy (3fes)
Frequency REEIS I8 gol s oy 8
JRIEE]

(b) Prove that Karl Pearson correlation
coefficient lies between +1 and —1. S

TS @ F1ef FACRD F2oTFT = +1 WS
-13 &S AT |

(c) Define conditional probability. If
P(A)=0-4, PB)=0-7 and P (at least
one of A or B) =0-8, find P (only one of
A and B). 2+3=5

SCE HSIfe Fige fawn | 3% P(A) =0-4,
PB)=0-7 9% P (INCF A %41 B3 901)
=0-8 W, (=2t P(A 9% Bl e
«o1)3 e Sfeear |
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(S)

(d) A random variable X has the following
probability distribution :
9Bl AeE e X @ SR SIS 3B

YRS I I -
X poT 4995 FiGHe Ao 1]
P : 01 03 04 02 0S5 03
Find mean and variance. S

5SS F 279 Tfeeq |

(e) Explain the principal steps of a sample
survey. S

AfSta “rafeq f[RfSa BICIR CA™N 341 |

4. Answer any four of the following questions :
10x4=40
o e wifant e e o

(a) What is dispersion? What are its various
measures? Find the variance from the
following table :

fRogaa Wi 2 TR RfSa caeam B2 o1

SIfeRPTIA *fd1 314 Sfeear :
Age (years) : 20-30 3040 40-50 50-60 60-70
7 (IA)
No. of persons : 170 110 80 45 40
NI RN
Which measure is known as the ideal
measure of dispersion? 2+2+5+1=10
Regam @md e sref & [ @
"7
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(6)

(b) Distinguish between positive and
negative correlation. Find the rank
correlation between X and Y from the
following table :

HREE FE M T2TT A1 6731 | oero
ff offeR /1 X WF Y3 oM Sor=

Sferear :

PXEE- R (S I OB ST RS/ SR 8] 3 5012
AT RO 0 02 3851 8 5192 5BE1RL N 1618815
Analyze the result. 3+5+2=10

FeTFe [ROE 341 |

() State and prove Baye’s theorem of
probability. An urn contains 10 white, 6
black and 3 red balls. 3 balls are drawn
in succession. What is the probability
that they are drawn in the order of
black, red and white if the balls are not
replaced after each draw? 5+5=10

SBIfIOR (@' THAMIE Ie SF 490 341 | I
95 TS 1061 391, 651 Fe WF 301 I8l I
qF IF O “[1 61 Go1eF 01 39 S =
wiE Aol 39 wR P o FEe @R
=, (SRt TR I, e HE 9
T4 AR SIS e 2
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(7 )

(d) Obtain the constants of a Binomial
distribution. In an intelligence test of
1000 childrens, the average was 42 and
SD was 24.

() Find the number of children
exceeding a score of S0.

(ii) Find the number of children lying
between scores 30 and 54.

(iii) Find the value of score exceeded by
the top 100 children. 5+2+2+1=10

fasm 3% & TR Sfereq 1 1000 FrReF
Jfarer =31 G5 51T T 42 WF YT [{oer

24.

(i) 509t WfEF T @ eI SRAM
Sferer |

(i) 30 SF 543 T&S 759 AT PR i3m
Tfeear | '

(i) SHfEF T3 IR 100 &= PRI SAm
e |

PO < z<-33)=0-1293,
P(0 < z <-5) =0-30854

(e) (i) Distinguish between probability
mass function and probability
density function.
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(8)

(i) A problem of chemistry is given to
three students A, B and C whose
chances of solving the problem are
4 £ and 1 respectively. What is the
probability that the problem will be
solved?

(iii) Under what conditions Binomial
distribution tends to normal

distribution? 3+4+3=10
(i) WS ST Fof A FBIRCN Tg Fol
{137 fora |

(i) I T R=FR 961 07 A, B 9F CF
S IR W W R e 99
e I FHEw 1, Lo L =,
(SCAR’TE STl ST (BRR SISl
&= 2

(iti) I (T P67 HYES fasm IBq YR
3B “fRaSH =W ?

(f/ Explain the different types of sampling
with their relative merits and demerits. 10

25T RfSH TR e | N8 (e
SICEATHAT 31 |

* kX
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